X,=96,31,Y,=99,99,7,782,24  B*

%,=0,3457y,,=0,35802,=0,2952 + 200 CIE02
Ag=(ag-a,) YIIVYigl -
Ba=(bs=byy) Y/[V/Y1g]
2,=n,(5,645«-2,666+2,57@)/\] 1 100
by=np[(~1,871x+1,457-3,861)/y] v
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t N >
—200 M 200
Bl
Ag.G.v,R=475,503,574,494¢,E nm L
Ostwaldcolours (0) Y,,=99,99
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X,,=96,63,Y,,=100,002,=81,17  B¥
%,=0,3478y,,=0,35992,=0,2921 + 200 CIE10
Ag=(ag-aq,) YIIVYigl
Ba=(bs=byy) Y/[V/Y1g]
2,=n,(5,645«-2,666+2,57@)/\] 1 100
by=np[(~1,871x+1,457-3,861)/y] M
n, = 1,40,n, = 0,50 *\.i A
n= D50 N A " L4
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By=(b4=bs) Y
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by=ny[(~1,871x+1,457-3,86, R
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DE741-7R_pcharti=4_xcolorl=1(CIE10) DE741-8A




X,=96,46,Y,,=100,002,782.22 B
%,=0,3461y,,=0,3588,,=0,2050 2
As=(ag=aq,) YIYIY1g)
By=(bs=by,J) Y/[YIY1g]
ay=n,(5,645¢-2,666+2,578)/\] ]
by=ny[(~1,871x+1,457-3,862)]
n, =1,40,n, = 0,50

n=D50 . h
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X,=96,74Y,=100,002,781,03 B
%,=0,3482y,,=0,36002,,=0,2017 2
As=(ag=aq,) YIYIY1g)
By=(bs=by,J) Y/[YIY1g]
ay=n,(5,645¢-2,666+2,578)/\] ]
by=ny[(~1,871x+1,457-3,862)]
n, =1,40,n, = 0,50

n=D50 . A
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X,794,03,Y,,7100,00Z,780,83 B

%,=0,3420y,,=0,36382,=0,2941 + 200 R17M
Ag=(ag-aq,) YIIVYigl -
Ba=(bs=byy) Y/[V/Y1g]
2,=n,(5,645«-2,666+2,57@)/\] 1 100
by=np[(~1,871x+1,457-3,861)/y] v
na=1,40,n, = 0,50 69/— .
n=D50 . . N
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X,793,78,Y,7100,00Z,780.94  B*

Xw=0,3413y,,=0,36392,=0,2946 1 500 R17Ms

Ag=(ag=ay,y) YI[YIY1g]
Ba=(bs~by) Y/[YIY,d
ay=n,{(5,6452,666+2,578)\] ]
by=np(~1,871x+1,457-3,862)]

n,=1,40,n,=0,50 {G/—
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